PHRD2PERAAEINLEERY | Y4 25¥ 22 LS PR e ag

i

e

KBS B RIS L

1.( )E 4&=425ABC* > 2A=30"> ~B=60"> ~C=90" > % AB=6 > Pl 7] e I FE?
(A) AC=2v/3 (B) AC=3 (C) BC=3 (D) BC=3V3

2.( )4r®(- ) AABC = #4-F 04p*»** D-E-F=2> AD=2> BE=4> CE=3>
PIAABC e% £ 5 %5 2
(A)18 (B)17 (C)16 (D)15-

3.( )deH(=) MO~ ue AB-BC4CA>*D-E-~F=8 % AD =12 RIAABC % £ =2
(A) 24 (B) 22 (C)20 (D)I18-

4. D4BI(=Z) > AABC 22 &= 435> 2C=90" > B cosA=?
20 29 21 29
(A) > (B) o1 (C) > (D) 20

5. D4rBI(z ) F K tanC=?

WL B Eel P

|l

6.( D4wB(F) o #3242 42,k E7% AB» &g 4

CD=102¢%»DE=152%pl% AB 4 %2z
(A)24 (B)28 (C)32 (D)3b-

Be &aedgg s AC =24 2% »
?

D, B
2 < o, 29
\
A C F C 21 A
B(=) B(=)

A B
o L
120
C
() ®(Z)



léfﬁﬂiﬁ?k#? 2% I FREEPBE s B ML

f'eﬁ]‘r’f + dﬁzﬁ]%ﬂ&llZ?ii

7.C )4eB(=) > AC 5T 7w 1825 ABCD ch¥f & 42 > ﬁziﬁ "D F~F =84 4
’ T % 2. %9
1 ETIE =

B AAEC & 7 5T 7w 1895 ABCD & 4% e A
1

1 1
(A) s (B) P (C) " (D) 3
8. ( )ﬁr%l(“) EERZRIERSE 8 AN 5L B - 1L 2,20 % chAk
BRI (5 35 LR LB A LRI AR
+/?JE‘ME BYBHEARTFERI 220 > ¥ BEIFFPBRE 1D FEF 5520
(A)3.52% (B)4.8=2z% (C)5h=2r (D)5.2=a¢x
£BC=4> £AD = ?

9.(  )4eBI(~) > £B=,ACD=90" - AB —BC » ZD=60"
(A)8¥2Z (B) 242 (0) 246 (D) $+6

10.( )4B(4) PAEFO >3 A ¢ o[ 0 hL =% 5 0P=12 BI*» S5 £ AP
(A) 13 (B) vII9 (C)VI39 (D)17-
PA-PB MO0+ A-BAg.>OP 2 AB fpat g > ZMOLics 3,

11.C D4cBI(+)
AP =4 p] AB=?

1z 25 24

(A) T (B (0%

(D) 6~
12.C )4cH(+-)> AB ~CD 3033z OM ~ ON 4 w5 AB ~ CD shsz e » 3 AB =16 -

OM =6 ON =7 » p|CD=?
(C)3V13 (D) 2V51 -

(A) 8 (B)2v17
D C A
D
S
A I5 B EZ' B C
B> ) B ) B~
C
P 0] N
D
A A M B
R(4) ®(+) B(+--)



B
e

PHRD2PERAAEINLEERY | Y4 25¥ 22 LS PR e ag

(A) 67z (B) bzm (C)d4m (D)12xm -

14. ( HrBl(L =) 3 - %X EL 1224  Fle s 5 1200 RIS e fFs 20T 20029
(A) 367 (B) 38z (C) 487 (D) bbxm -

5. D4eBI(+=) > = 95 ABCD 5 FIP #2875 > % LA=58" > ~P=25"> B| £Q=?
(A) 3" (B)39° (C) 43" (D)45" -

16.C D)4e@®(*2)>A~B~C-D3Ftw B2 3 ,BAD=60"> BC=100" > p] TD 13 #=2
(A) 35" (B)30° (C)25° (D) 20° -

17.C D4cBI(~7) > =25 ABCD 5 [0 chp 2w 25 > Bl te BC st £ » = &+ AD //BC >

ZDCE=110° > PRI 7l4cit ip ¥ & FE?
(A) ZA =100 (B) «B=70" (C) £A=70° (D) ZB=110"-

18.( D4c®(+=)>A~B~C~D-E~Fim+ = e, s AF=80">TCD=130" &£/B+LE=2
(A) 7" (B) 70° (C)60° (D) 65" -

P
D A
A
C D
B C
12 Q B

BI(—=) B+ =) BI(-2)

BI(— 1) B )



LR SRR SIPE FY SR IR TR R FIE T T FISE T PRt S

1=

19.C D% B(+=) AP35 AB ~ CD 2 E 8> ZBAC=45"» ZABD=T70" > B| ™ 7l4cit v & 1 #E?

(A) £1 =60 (B) £2=45"

-~

(C) £z3=T70" (D) «z1= 22 =23

20.( )4cR(> ) AR A B A B B AN SEA P 0D A B 6B YT S
£ I?]Q%«E‘F ,7'5"%!;,0 E!J'T fljﬁiﬁfﬁ"%‘zﬁgﬁ?

(A) £1=43 (B) z£1+ «£2=180"

(C)DF//CE (D) = #7;CDFE % % &4-7; -

21.C DdrB(+4)> 2 AB4cCD £ 0% Flw > 2 b Ljsord d1end B> ¥ AB =6

TD=4> OA=4.5> p]OC =2

(AT (B)4 (C)3 (D)=

22.C D)4rBI(=+) A~B~C~D~EGF! 3 g2 BC//ED - » BD - CE%*F 2>

% «DFE=80" » B ZBAE=?

(A) 135" (B) 130" (C) 125°

]?‘I(_J..:)

SR RA(E128) G EAHA

(D) 120° -

1.

4B > $75 ABCD ¢ » AD //BC » AC & BD
2t P gk BP=6> AAPD & f§=8 T ¥ i

ABPC & ## =18 T = ¥ i

+
A D
P
B C
(1) BD thg % 54 9 (3 2)
(2)AABP & # 5 5 > T3 H =92 (34)

F - B dp Beofist OA=20 24, FiEARA L - B

5250 4off] o ¢ Arpt R AR E L B 24 o

Fo
; i@

(1) B2l & o (34)
(2 %25 4 - (34)




